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M Halls of residence
B Train station
» Bus stop

< <] One-way system

The University by bus

Monday - Saturday

(Approximate journey time in brackets).
Whiteknights Main Entrance

9, 12, 20, and 144 from Market Place or Station.
(20 mins).

Whiteknights Earley Gate Entrance

17 from Friar Street, 41 and 42 from Station

(15 mins).

Bulmershe Court

63 (15 mins) and 42 (25 mins) from Friar Street or
Station. To return 65 and 42.

London Road Campus

Mansfield Hall, Kendrick Road : 12 and 20 from
Market Place or Station.

Craven Road: 9 and 41 from Friar Street or Station.
(7 mins).

Sunday Service
Whiteknights Main Entrance
9and 12.

Bulmershe Court

63 and 65.

London Road Campus

12.

Evening and NightTrack services from
Station.

Whiteknights Main Entrance

N3.

Bulmershe Court

65, N2, N3A.

London Road Campus

N3 and N4 to Craven Road.
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